F2-15HK gk AR T B
BEFHERAL A RIEY S HRE
MBS ITEFER I % % I = @ Fr F E M #E (FiA ) AfLARK I = # =
= s _ = R fF T SR AT ET - ST ETHA  anss DIP.GX ¢100 L=281.0m.DIP.GX ¢75 L=39.0m.DIP.K ¢ 100 L=13.0m.
LA110004% iR (R RAGHBELE (REAEDIL) ¥42,339,000F BES  |itwsox ¢100 6% HERGX 75 TEHAE 675 2k
TEDOHEIEE Hhigi B kSR Z Dt
S8 B - ISO . cm = il ME RO R "=
IE.I*E =3 @EI$ ﬁﬂﬁli 71_\7—/7—’{7 %ﬁ_c. on = «s_:_'(l(f = 1 P -
I$£$§ I$EJZ$E ﬁﬁ; Eégg%;)?% ﬁEEIIEE ﬁ%%%ﬁ 5E§J t'liiﬁﬁg Iﬂiﬁ *EH*.”: lyiy\ /}&J\ *EI%{'?‘JLM?J\ E$ﬁ$lﬁ# EEIEE
(53 2 2 1 — 1 2 1 2 2 GRi =) GRi =) — 17 10.000
[fifig LLo D ERMEfE R ]
TEDOHEIEE Hhigi Bk EAE Zhith
ARLE EiE e BBRIE 1SO EBRIE [R50 T47| FET | wmie so w e | o0 e e i m & & ME = e
I$5ﬂé$§ I$ﬁk*ﬁ ﬁﬁ; Eéggg’;?’[% E EIE E ﬁ%;ﬂ‘:fé 5E§J t,liiﬁﬁg iﬂiﬁ '*EE*JL B}iﬂ '/Flﬁw *EI% {'?‘ltmﬁ E$ﬁ$l£# E EIE E
REEEHKASH 2 1 1 — 1 1 0 0 0 0 0 — 10
HHXsHEAMLIK R
EXfif=E (R 10.000
[ &SR]
AL (BiikE) EALBRERE (RIEEE) BRIl | RaIREE % . =
AfLE (A EARL D 2 o | o2 mER (B () 00 (8) | () 100,000,000 EALE FHRBREORR
K 4 2 R £ A B
“fM & A H
S & A A2
AFLE LB (RiaE) ZES (EHESH@IE) X1 ME S, FHEEIS/NMEMIZRIERAALEMETERT
AT {E X2:MER=HBR/RafR) X (NEADHR)




